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Candidates are required io give their answers
in their own words as far as practicable.
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Marks allotied to each guestion are indicated

against it
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You must write question paper series in the circle
at the top lefi side of the title page of your
answer-book.
(i) R @ Jur 3 o @ o Hew ov-oF T ol af &
JT-GR O 36 0 qo T st 8
While answering your questions, you must
indicate on your answer-book the same question
no. as appears in your question-paper.
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Zn +CuSO, »DnSay. + .Lol.....

Complete the chemical equation : ' ,‘
Zn+CuSO, —;Zz;&?!;.. + '

CaSO, .2H,0 & &M T R I{-W 1 E-

Write the common name of CaSO, 2H20£G7y‘7&m
Mwmwsﬁazmﬁwmmm@‘z)g)s L.

Write the electronic configuration of A/ atom. é—ljg )3
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While cooking, if the bottom of the vessel is getting
. blackened on the outside, it means that -

(a) the food is not cooked completely.

'(b)/ the fuel is not burning completely. & Ans W
(c) the fuel is wet.

(d) the fuel is burning completely.
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The anther contains-

(a) Sepals (b) Owvules

(c) Carpel ™ Pollen grains &— Answe.s;
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How many months are required for the development
of child inside the mother’s body ? «— q ry-nmyjaqs
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Write the full form of L.E.D. §— || al:)c BnH\.a,m&
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Name the plant on which Mendel conducted his
experiments of the inheritance of traits ? & Pea. f w;l,

9. wAwHSLAFEAME? & O (S0 |
What is the S.1. unit of Resistance ?¢— @ hﬁn (—51’)

10. g™ 9t i F 69 9B 0 o9 & 2 ?--'3—-3’35"6'
Which kind of lens is present in human eye ?--Cﬁh\'?( 1013'
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) 25 m& fnswey () 2.5cm
(€) 25cm (@ 25m
The least distance of distinct vision for a young adult
with normal vision is about- ‘

-(d)/ 25 m¢& Answen (b) 2.5 cm |
(¢) 25cm (d 25m 4

12, T @ ot 0002 % . 1
Refractive Index of air is \10003 .
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Name two non-biodegradable substances. , % ¢
-3
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At the instance of a far seeing forest officer A‘k.,.&uot)g
villagers were involved in the protection of badly
degraded sal forest in 1972 in the Arabari forest
range of Midnapore district of West Bengal.

15, ‘SmeR-yaar S 9w o) 1
Define ‘food-chain’.
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Question no. 16 to 24 carry 2 marks each and their -
answer should not be more than 30 words.
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Oil and fat ontzznng ood 1tems e ﬂushed .
nitroge y 2 e_Ca,usL w\;%qu\
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What are the limitations of Newlands’
iy s’ law of
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What is Hydrogenation ? What is its industrial
application ?

19. 7 ¥ AeX R i ArEAT R | I8 T HAES ¢ ?

2
Describe double circulation in human beings.

~ Whyis it necessary ?
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How does internal fertilisation differ from external
fertilisation ? |
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A doctor has prescribed a corrective lens of power

+1.5 D. Find the focal length of the lens. Is the
prescribed lens diverging or converging ?
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37? 2
Why does the sky appear dark instead.of blue to an

Astronaut ? o )
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Why are copper and aluminium wires usuaily
employed for electricity transmission ?
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Can the organisms of any trophic level be removed
without causing any damage to the ecosystem ?
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Question no. 25 to 28 carry 3 marks each and their
answer should not be more than 40 words.

25. A9 @4 B T AW A |/ TR R q9Eg | 3
Draw a well labelled diagram of human heart.
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What is thermit-reaction ? Write an use of it.

2Q, 3Q T 4 Q P A RAR F oMy T wART
G e 81 §6 W 1 g 9 | B 3
Three resistors of resistances 2Q, 3Q and 4Q are
.connected in series. Find the total resistén_ce of this

combination.
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What are the advantages of using solar-cells ?
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Question no. 29 to 31 carry 5 marks each and their -
answer should not be more than 70 words.

TR SR et Rt R ife a1 T R
DR T AR @ g 7w Bl § 2 5
Explain the underlying principle and working of an

electric generator by drawing a labelled diagram.
What is function of brushes ?
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Explain the human female reproductive system in
detail with the help of a well labelled diagram.
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Write ten differences between metals and non-metals
based upon five physical and five chemical properties.




